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e S

“Management 1S essential  for  the

organizations which arc :

(A) Non-profit organizations
(B) Scrvice organizations
(C) Social organizations
(D) All of the above ™

‘-OSuccessful management ensures that :

(A) Goals are achieved with least cost

(B) Timely achievement of goals

(C) Both of the abovet

(D) None of the above

3. Management is said to be poor if it is :

(A) Efficient but ineffective
(B) Effective but inefficient
(C) Both inefficient and ineffective

(D) All of the above

. /Which one of the following is not an

economic objective of the business ?

(A) Social Environment

1.

gaae 39 @eql & Y I|aeTs

[ 1

(A) Tr-araErl HeH
(B) 7ar H1eA

(C) AHTAH WA
(D) 9T AT

aFa wEaq g8 geEd B
5 :

(A)FH 8 FH W™ F A™ TS
o FFT ST 2

(B) &4t %I THE 9T Iq@id
(C) S 2
(D) U 8§ § g &

ﬁﬂﬂaﬁrmﬁm%tﬁaﬁ

T

(A) BT Tl STHHET
(B) WG Tich H&H

(C) oTerd I AWAHET &1

(D) I T

fr=fifaa § 9 $9-91 Faa™g &1
s SR & 8 ?

(A) |rRYS  TaTE<oT

oo surjuoneIgp mmm//:sdny

(B) Survival (B) Ia=hfaan
(C) Profit (C) @S
/8 (8) P.T.O.
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S. Sweoessful  coondimation  of  activities
revulte from effectively cantving wat the
funcion :

(A} Planning
(B1 Qrgznining
() Naffing

(D) Direcung

(B AR of these
A

;’ § Lomarol funchoa of mmanagement cannot
v
~ be performed withouws :

(A} Plaming §

(B} Organizang

{C) Sefimg

(D) Motvetion

7. fﬂxd the odd one o
{A) Boand of Dmectors
{B) Chief Executive
{C) Foremen
{D) Shareholders

4418

— e T e R i
P, -

(4)

S Rrmadl @ Qe aITRi wd W
gl @ A s B uRmEE
ﬁ'tm R :

(A) NI
{B) NS
(C) wfpT

(D) PRy

(E) 3 aft

6 NEU9 H fygEer @ FEe &
& Rear =1 9@ 8 ¢

(A) AT
(B) A
(C) =fh1

(D) STom

7. faqw & qar I
(A) PRy "ozw
(8) A FHEA
(C) &TRA

(D) NTEH

https://www.dbrauonline.com

oo surjuoneIgp mmm//:sdny



/

/

oo duljuoneIqp mmm,//:sdny

e,

441/8

https://www.dbrauonline.com

B:) Management IS8 ....ooo activity.

(A) Single
(B) Group®
(C) Both Group and Single

(D) None

. Fredrick Winslow Taylor's mechanism of

Scientific Management includes :
(A) Scientific task setting
(B) Planning the task

(C) Standardization of tools and

equipments

(D) All of the above

‘I‘hc father of the Scientific Management
is:

(A) Henn Gantt
(B) W. Edwards Deming
(C) Henry Ford

«D) Frederic W. Taylor

Who is known as the father of modem
theory of management ?

(A) Harold Koontz
(B) Henry Fayol
(C) F. W. Taylor

(D) Max Weber

(5)

10.

1.

(D) =% =#
m ﬁqﬁ" ;-?r:: % --1 B

ﬂa'nﬂ % 33 3 == .g .
(A) &= == 5%
(B) =7 = == =0

(C) 3= 3T I9FIeh &

= ne~

(D) 3953 TEI
=S vEas = R & -

(A) 4 T

(B) 3=go TSIES T
(C) B4 wig

(D) B=3=E s=go WY

R g Gwa ¥ 9 F
A FEI AT AT R ?

(A e T
(B) =8 o
(C) CHo E=go eaX

(D) &g FT
P.T.O.
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What ts the full form of MBO 2
{A) Management By Opportunity
(B Method By Opportunity

@) Managernent By Objectives

{D} Method By Objective

Mznagemen: by objectives concept was

AA) Peter F. Drocker
(B} Fzyol
{C) Cheser Bemard
{D} None

............

(A) Unity of direction
,(B) Unity of command
(C) Centrelisation

(D) Gang Plank

441/8

!

(6)

2. oudled W et w9 a4 ¢ 7

13,

14.

15.

(A) @Y F JdEH
(B) agx @t fafy
(C) SZ_edl 210 HEeH

(D) IR_¥T zRT Al
Boife 9y olfsifRd A< @

---------

...........
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16, Management by objective is : 16.
(A) Goal oricnted 5 (A) T 5573
(B) Work oricnted (B) =4 EieriCl
(C) Both (A) & (B) (C) 21 (A)T2 (B)
(D) None of the above (D) 39 H F =E T
@ ____________ principle of management is 17, eeannns gHgs = e IS
concerned with promoting team spirit. SE & FTE 29 & FEia4 2 )
(A) Equity | () R
(B) Scaler | (B) =it
(C) Unity of command (C) e Tl Tt
/(D) Espiritde Crops 2 (D) TiEfe & ==
1a. Which one of the following is an' 1. FrETEd ¥ ¥ B A9Em =
importance of planning ? ' e B ?
(A) Reducing uncertainty (A) AHITTaSE = 75 F97
(B) Identifying alternatives critically (B) TSI =9 ¥ fa=m=a1 &I
YT HTET
(C) Developing leadership (C) Agw gg =
- (D) Selecting the most appropriate plan (D) §919 SUFRT IS &7 999
@, Which one of the following is a step of 1. Fr=ifiilRaa 8 @ &= g1 =1 o=
planning ? gL 8 ?
¢A) Analysis of organization structure « (A) §2R g7 & fassae
(B) Analysis of environment (B) qatayor &1 Rydgor
(C) Analysis of employee behaviour (C) FHE Zaer & Ay
(D) Analysis of employee morale (D) FHET FHEE & fargegor
441/8 (7) P.T.O.
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20. Which one of the following is a single use

R1. >\\T:ich one of the following does nor

23, Which one of the following sources of

441/B
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2. Prafafgs § @ dF @ W

L

plan
(A} Stratey
{BY Rule

() Bodpa

(D) Mathad

foliow scalar chain ?

{A) Informal orgamization
1B} Functional structure
(C) Formal orpenization

(D) Divisional strucnure

Degree of decentralization indicates -

(A) Degree of authority delegation

(B) Degree of responsibility

{C) Degree of power delegation

(D) Degree of accountability

most relevamt 10 recruting managerial
personne] ?
(A) Direct recruitmenn

(B) Employmem exchange
(C) Advetisement

(D) Casual caliers

T S —

21,

(8)

Iq@e Qe § 7
(A) TR

B) FEw

(C) a5

(D) fafy

Frfafaa & § @ aIRke @
T ITFET FET FHIA & 7

(A) STERe Hres

(B) Haf® d@XaT

(C) Ny=lE e

(D) §¥rig H=a=n
FrdiesTor 3 Rl 3P et
(A) TifErEser gfaffmvea 3 =R
(B) Rl &t =aft

(C) 7R wardier & feaht

(D) SE=EEr 3 R

Frafiiea % @ @ ol 5
AT A & ?

(A) 921 7t

(B) T9rMT Fferg
(C) fasmgs
D) T3 P
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34, YNecd hicrarchy theory of motivation has 24. UTUN H SAEYTET REIS 2 IE=CALS
e

been given by :

(A) Maslow (A) TTFT
(B) Fayol (B) A
(C) Taylor (C) T&
(D) Koontz (D) F=H
Which one of the following is not a 25 Ty=iaima ¥ ¥ O
financial incentive ? e Jar e 7
(A) Bonus (A) I
(B) Provident Fund - (B) Hia=@ S Te1
(C) Co-partnership (C) J8 @Ezrd
/D) Challenging job ‘ (D) gq*‘-;a'ﬁ-?-} FH
26. Encoding is rq]atcd to : 26. U=pnET § gaigg B -

(4) Converting message into symbols
(B) Converting symbols into message

(C) Transmitting message (C) Tew 9Tiia &

(D) Receiving symbols (D) SATs AT HTAT
@ Grapevine is a form of : 27. B F TE Y g

(A) Formal Communication (A) TS s9R
(B) Channel of Communication (B) 9K & I=iet
(€) Informal Communication

(C) aTHII=ERE HaY

() Barrier to Communication (D) =T & foq aren

441/8 (9)

https://www.dbrauonline.com

(A) T FT SR 5 FEel

(B) ST = 9w 3§ "ael

P.T.O.
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28. Which one of the following is a se
barrier ?

mantic

(A) Organizational policy
(B) Lack of avention

{C) Technical jargon

(1) Stamus

’in ........ - is the process of ensuring that
actuzl tesults are in accordance with
planned resuhts.

(A) Controllinge
(B) Coordinating
{C) Planning

{D) Directing

@ Controllingis........... .

(A) Forward looking

oo duljuoneIgp mmm//:sdny

(B) Backward lookingd
{C}) Conunuous process

_— (D) All of these

- 31, Decision making is the case of ............
{A) Planning
(B) Organizing
() Stafliing

(D} Directing

441/8

28.

29,

30.

31.

Prafifag § @ @-ar O SRR
T R ?

(A) AP A

(B) ©q= i @

(C) wfpr

(D) =

https://www.dbrauonline.com
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 involves giving authority and

responsibility to subordinates.
(A) Division of work

(B) Decentralisation

(9] Delegation

(D) Centralisation

is the right to command.

.............

(A) Authority ©
(B) Responsibility
(C) Accountability

(D) Both (A) and (B)

Directing flows in ........... direction.

(A) Upward

(B) Downward

{(C) Diagonal

(D) Both (A) and (B)

is the process of exchanging

-----------

information and understanding between

two or more persons.
(A) Directing

(B) Leadership

(C) Communication ©

(D) Motivation

(11)

34.

............

...........

(C) FamEsg!

(D) (A) 3R (B) &1
ECIES]

----------

(B) 2 & 37X
(C) Rmet

(D) E¥1 (A)TE (B)

g F oI JASH
FRREl @ diw ggeell AR @\ d
F EF-NEE I AiHar )

A) Fde=
(B) g
(C) 99X

(D) ST

-----------

P.T.O.
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36./ What is the full form of TQM ?

(A) Total Quality Measurment

Total Quantity Management

(C) Typical Quantity Management

(D) Total Quality Management

€ Which method is very popular for making

39.

441/B

online transactions ?
(A} Credit Card
B) Ncll Banking
(C) Debit Card

(D) All of these

Under what method payment is made at
the time of physical delivery of goods ?

{A) Cash on delivery
(B) Debit Card Payment
(C) Credit Card Pavment
(D) Prepaid Amount

People knowledge includes which of the
following ?

(A) Insights
(B) Institutions
(C) Relational information

(D) All of the above

37.

38.

39,

-

(A) FH ORI 9
(B) =1 A= AU

(€) fafire wEn s
(D) /g orasi e

AT AR HE B T -
Rl sga by & 7

(A) BET F2
(B) AT Sfepm
©) e HE
(D) T &f

A o e Bded 3 gnyg

TN R sl & wed Rem
ST ® ?

(A) B I fTd
®) Sfe F gram
©) BT HE
(D):ﬂﬁaﬁfﬁ'

W SN ¥ ReRied ¥ ¥
mive ® ?

(A) oTtgfe

(B) o=t

(C) FEIRE =
(D) SUaT |+

https://www.dbrauonline.com
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40. Which one of the following are the basic

sources of stress ?

(A) The Environment
(B) Social Stressors
€) Physiological
(D) Thpughts

(E) All of the above

The term "Enterpreneur” has been derived

from the word "Entreprendre” which

means ? https://www.dbrauonline.com
(A) To giveq

(B) Tolundenaice

(C) To choose

(D) To decide

Entreprcneurship is a creative activity,

said by :

(A) Fredrick Harbison

(B) B.F. Hoselitz

(C) B. Higgins

(D) Joseph

(13)

40. Fr=fafed # /@ &9 g @ g

41,

42.

AaE?

(A) TiaTer

(B) AT O
(C) A

(D) f=mx

(E) SUdaa O

T e R e T ?
(A) F=

(B) &= & g

©€) T B

(D) Aol S

IUHGT s A Ry
fpas 2T wer T B

(A) Bl eRfEEs
(B) Sllo THo graferes
(C) o fRffiT

(D) 9%

P.T. 0.
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What is the hallmark of suceessiul
entrepreneur ?

(A) Risk bearing capacity

(B) Persistence
(C) Flexibility

(D) Self-Confidence

@ Which type of enireprencurs utilizes a
chance to introduce 3 new technique or

new product ?
(:\) Innovative enirepreneur

(B) Instigated entrepreneur
(C) Initiative entrepreneur

(D) Karnataka
@thphascislhtpbzseofrm]maining?

(A) Initial phase

(B) Training phase
{C) Post-training phase
(D) Follow up phase

441/B (14)

3. wH weE Il 3 IEEE w8y 7

(A) SR qee HH @) &PTT
B) gEa

(C) Sefiea=

(D) sT=fasarg

4, FE v B i T s ar

AT IWE B Q7. FR F AT B
IO FG E ?

(A) I FTd
(®) AT Terk
(C) wBw Jef
(D) SRy endt

4. T & 9 g ¥ Ry @ @y
Iy B 7

(A) afeFTg

(B) 7y w_9T
- © B

(D) FfesH

4%. FIAA WO qrARF SR
T ® 7 |

(A) arif¥es 9oy
(B) Afsrerer g
(C) AR & = Ty
(D) srgadi o

https://www.dbrauonline.com
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47, "Sced Capital Scheme" is being operated a7, A &R arene ‘ -
(8) SIDC (B) T
(€ ICICI (Cy smdznamisiiar
XP) 1¥C1 (D) FmduE T

48. In the 1995-96 periods what percentage of 48. 1995-96 =1 AT o S7S| T o
the total entrepreneurs were women fra=n ofasm wfzan Tzof oh ?

entrepreneurs ?

(A) 10% (A) 10%%
(B) 11.2% (B) 11.2%
(C) 13% (C)y 13%
(D) 9% (D) %%
49. Why the majority of women are unaware 49. AfuFer wEFENT aHTH GwE A
of technological developments ? IFAAH FE B ?

(A) Low risk bearing ability (A) TR FAMEH T&§F & B F9ar

(B) Low mobility (B) w1 fastieran

(C) Lack of education (C) Rmen &/ av™

(D) Low need for achievement (D) Iqaifeyr &l F7 ANEIFEAT

441/8 (15) P.T.
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0. Which of the following is a remaedy 0 50. ey o QA B wiwen ol
solve  the  problems of  women @ gwEnal @ el @ B 3U
entreprencurs 7 2
(A) Social attitudes (A) AT e
(B) Finance cells B) 1 v
(C) Suff competition (C) & wfcrafren
(D) Supenision (D) TgQeoT
51. What can be defined as an attractive 51. T% 3THUs aR@esn AR & &
project  idea  which an  entreprencur o oftwiia R o GeRar @
accepls 2s 2 basis for his investment P o Sl oraR PRw Plg @
decision ? YR F T F Hr HEar 8 7
{A) Possibility (A) EHE=T
{B) Business (B) =X
{C) Opportumity (C) O
{D) Notion (D) gren

52. What is a two way exchanpe process in 52, Ja<hl g i« & R
which the needs and wants of the buyer girr o e @t S=d o
and seller are satisfied ? gegll gt ot 8 ?
(A) Marketing (A) AT
{B) Selling (B) T
(C) Producing (C) TR
(D) Accounting (D) A@iH

441/8

(16)
https://www.dbrauonline.com
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@ Which phase starts after the investment 8. g =1 ol 3 & e d=ma
decision is taken 7 TTOT 9P A 7
(A) Normalisation phasc (A) ART=EFTOT T2
(B) Construction phasc (B) FATo T797
(C) Pre-investment phase (Cy Mo 93 377
(D) Product idcntification phase (D) 3297= TEEE G999

sa. BEP=(FAS-V))x100 - 54. AT = (TE(TH — &7)) » 100

What does F stands for ? Fo =1 519 & 7
(A) Fixed Sales (A) ==7 fa=
(B) Fixed Cost (B) s @rg
(C) Finished Stock (C) F=1T =T=%
(D) Final Output (D) 3" ST
Which statement gives a projection of 55, FH4-91 $E5 A%% $ Hdw F
future sources of cash and their B A =% u&%‘j‘ﬂﬁﬁﬁ H FHIT
applications ? ar & ?
(A) Cash Flow Statement (A) BT &= =8
(B) Fund Flow Statement (B) &% T =eie
(C) Income Statement (€Y g RETor
(D) Balance Sheet D) ¥Fg sfre

441/B (17) - -
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% Which of the following is a remedy to

solve. the  problems  of women

entreprenenrs ?

{A) Social atiitudes

(B) Finance cells

{C) Suff competition

{D¥ Supeniision

. What can be defined as an anractive

project idea which an  entreprencur
accepis 2¢ 2 basis for his investment
decision ?

{A} Possibiliny
{B) Business
(Cy Opportunity

{DDy Noton

What is a two may exchange process in
which the needs and wents of the buyer
and seller ave satisfied ?

(A) Marketing
(B) Selling
(C) Producing

(D) Accounting

. i A d A A sufa

51.

52.

N TR s@ HFE B IUA
R?

(A) FrfoRE e

B) R gaw
(©) FH afeafar

(D) THzror

TH AFHEH IRGeE FE & w9
¥ oitnfe Rear sn ogwar B
R & Sl egs PRy Bl 3
YR % Y F R s 7

(A) G
(B) ST
(C) =Y

(D) gron

S g ofear &= & R
FUN gd 2 ¥ 7

(A) AT
(B) 941
(C) TRH

(D) TEiFA

https://www.dbrauonline.com
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@ Which phase starts after the investment

decision is taken ?

(A) Normalisation phasc
(B) Construction phase
(C) Pre-investment phase

(D) Product identification phase

54, BEP=(FAS-V))x100

What doés F stands for ?
(A) Fixed Sales

(B) Fixed Cost

(C) Finished Stock

(D) Final Output

Which statement gives a projection of
future sources of cash and their

applications ?

(A) Cash Flow Statement
(B) Fund Flow Statcment
(C) Income Statement

(D) Balance Sheet

|
|
|
|
|

53. a9 w1 MM S¥ F aw S

IO 9% B Z 7
(A) ATHT=ETST g797
(B) =TT I57o

(C) M3s1 93 77T

(D) =77= TFFE FT9

AT = (TH{TH - 1)) » 100

q‘

F&i == 52 3 7
(A) =17 =

(B) Hiysw avd

FEH-T BHS T2 B HEw =

—— = - - .
Sl 2T ST -31-3'3'4{4: = EEA-

Zar & ?

(A) By & =A<
(B) ®°T T =THT
(C) g &AgTer

(D) I &1

oo surjuoneIgp mmm//:sdny
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56, Ownership capital is also known as

(A) Debt
(B) Equity
(C) Loan

(D) Mortgage

57. To whome docs the company pay
interest 7

(A) Sharcholder

@) Customer

(C) Debennre Holder
(D) Creditor

S8 When was small scale industries board
consttuted ?

(A) 1938 (B) 1960

(C) 1953 (D) 1954

59. Govemnment industrial estates come under
which type of classification ?

(A) Variant
(B) Objective
(C) Functional

(D) Organizational

(18)

59.

s it @ wa A W o SR
&7 '

(A) ot

(B) g&

(C) =7

(D) §9F

Foit FA s &R 8 7
(A) FTTLH

(B) uEh

(C) feduaT 9=

(D) A&

Yy Tam A & Ted &4 fE
Iqr ar 7

(A) 1958 (B) 1960

oo surjuoneIgp mmm//:sdny

(C) 1953 (D) 1954

%m%mm%?

(A) aftde
(B) TT&H
(C) FTIHF

(D) FEARHE

https://www.dbrauonline.com
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When was  the investment  allowance

introduced ?

(A) 1970 (B) 196]

(C) 1967 (D) 1976

(QIPR stands for :

@
N

441/8

(A) Industrial Policy Resolutions
(B) Industrial Protection Resolutions
(C) Independent Policy Reforms

(D) Income Plan Rewads

"Quality is fitness for use or purpose" said
by ?

(A) Philip B. Crosby
(B) Joseph M. Juran

(C) W. Edwards Deming

(D) 1SO

What is the fourth element involved in
TQM ?

(A) Processes
(B) Team Work
(C) Continuous Improvement

(D) Customer Satistaction

g0, AT AW FA 9= ey T Ay ?

61.

(A) 1970 (B) 1961

(C) 1967 (D) 1976

(A) AN S doa
(B) AriiE Heaer HHed
(C) == Hita Fart

(D) &A= T gIEEr

SugETa BT eEE T SR T
?

Y

(A) Hiea Ho T
(B) SITF® THo JTH
(C) s=go Teagd IR

(D) SETHA
aages  qe S o #4918 7

(A) SfRard
(B) 39 T
(C) FRET gur

(D) TTeH Hyfe

P.T.0.
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64. In which stage the business expands by 64. Frg orgwn & g qrEr G
way of opening its branches ? A @ T ol © 7
(A) Startup stage (A) ®TEaTq =TT
(B) Growth stage (B) R =31
(C) Expansion stage (C) e = xor
(D) Maturity stage (D) gRaa=ar sTa=en
. Which form of growth of the business is 65. HIEE H ghs H HH-Al &
diversification ? fafaefimor & 2
{A) External (A) aEd
(B) Vertical (B) digas
(C) Horizontal (C) T
(D) Internal (D) SAiaRe
66. / When two or more enlerpriscs merge into 66. 99 UH T IJgH gqM B fog ar
one 10 form a new enterprise, what is it ar & | Afys Igw o § Rl
called ? & o, o 30 w1 e o § 7
(A) Absorption (A) STgoT
(B) Amalgamation (B) E9EE
(C) Joim Venture (C) €gFa IEH
(D) Franchising (D) haETEfAT
............ say’s -that entrepreneurship is a 67. reeennnn.. Fel & B Iafmar o
ceeeecoactivity. b At B
(A) Fredrick Harbison & creative (A) Beli® eRfaas ofir fpufea
(B) Fredrick Harbison & innovative (B) et ertfam ofiv sidrma
(C) Schumpeter & creative (C) grdre7 3T fpafeq
(D) Schumpeter & innovative (D) 1T X ¥

441/B (20)
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68, Which of the followin

70.

441/B

https://www.dbrauonline.com

g is not a source of

idca for an entrepreneur ?
(A) Cost of the project
(B) Product profile

(C) Imports and exports |

(D) Emerging technologics

On the basis of permanence, the financial

needs are classified into:

(A) Fixed & working capital
(B) Long term & fixed capital
(C) Short term & fixed capital

(D) Long term & short term capital

The term "export finance" refers to
facilities and techniques of ........... at the

pire-shipment and post-shipment stages.

(A) Debit & Payment
(B) Credit & Payment
(C) Credit & Collection

(D) Credit & Debit

68.

69.

70.

Prfiftaa & & o9 & Sl &
R AR w1 A & 27

(A) AT & SPTd
(B) S SBEET
() &g I Pt

(D) =< g8 et

g & 2oarr 9T A
AEEEAT B GG AT ST
g7

(A) Rax AR FEd ol
B) ErdEr ST T o
(C)ag%ﬁﬁqaﬁ‘{mﬁrﬁ?ﬁ

(D) S AR agHRE 3o

= “fygig fg” Rode § gsd
Ax PBgde $ am & =XOn H
.......... #H g iR qw-ih

o g Har #)
(A) e IR O
(B) ®f¥T IR =
(C) Hfee ok e
(D) sfeT X S

P.T.O.
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............ determination, not
the .oooveeo. . determination,

(A) Manufacture's & Customer's
(B) Seller's & Customer's

(C) Customer's & Manufacture's

(D) Seller's & Buyer's

72. Sub-conwacting is g
beneficially

.............

between two companies.

(A) Exclusively & Traditional
(B) Mutually & Commercial
(C) Mutually & Traditional

(D) In exclusively & Commercial

@ ......... .Is a person responsible for sefling
up a business.

(A) Entrepreneur (B) Businessman
(C) Manager (D) Planner

74. /EICI stands for :
(A) Export Inspector of Council of India
(B) Export Inspection Company of India

(C) Export Inspection Council of India

(D) Export Investigation Council of India

441/8 (22)

72,

73.

74.

TR T e FERTE
.......... Frufzor A&
(A) Fwfer ofit ames

(A) A9y =7 § ok qrufts
(B) @R v giferiges
(C) IEafR®s ot qrRufs

(D) IRy ol wafdfae &

(C) wEyh (D) BFRER
EICI =1 atef & :

(A) i oReg @ Pt Préers
(B) w1 =t frata Priteror o=t
(C) | Frafe Frderor oftoe
(D) "= Falg srg aigg

https://www.dbrauonline.com
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@ DIC stands for:

https://www.dbrauonline.com

@ SIDO stands for:

(A) Small Industrics Developing

Organization

((®B) gmall  Industrics Development
Organiz.ation

(C) Short Industrics ~ Devclopment

Organization

(D) Small  Industries " Deployment

Organization

(A) Disassembled Industrics Centres
(B) District Industries Collaboration
(C) District Industries Centres

(D) Developing Industries Centres

@ IDBI stands for :

(A) Industry Development Bank of India

(B) Industrial Development Bank of

Investment

(C) Industrial Development by Bank of

India

(D) Industrial Development Bank of India

441/8 (23)

75.

76.

SIDOFHT A4 & :

(A) T T famrasia e
(B) 719 ZErT 5 T
(C) FHu A fam| T

(D) @Y T&@M GifaET e

Sl & AF B -

(A) STHEE T =

(B) Rrem ST HEATT

(C) RraT ST H7=

(D) freprasia SamT &=
SESTRNSTE 1 o B -

(A) e T J% e gvsar

B) et R S oG
FEHT

(C) % I sivsar a7 aﬁﬁrﬁ:ﬁ-
g

(D) W hafs Rea 9%

P.T.0.
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TCO stands for ; Lo cown o R
{A) Tata Consultancy Orpamzation | (A) ot pedd MUGIEERE!
|
(B) Technical Comapany Qrganization 13y Mspasa ) S GBIt
(C) Technical Confipurad Onganization () mma gfand sl
(D) Technical Consultancy Orpanization (D) Mwar Faedd ARTFET
Cm._! CED standx for - 70. CED @ aef & -
i
(A} Centre for Enterpwise Development :' (A) X B devggs SaeaHe

!
(B) Comsukancy  for  Entreprencurship | (B) HEeedl R Geddn
Develapmen: !‘ SgeaHe

(CY Cemre for Entreprencurship | (C) He7 ®ix devigrismg T
Deplovment }
|
(D) Centre for Entwrepreneurship | (D) Hex B dery=ariym as
Developmen: :
|
80, SIET stands for - T g
C | 80. SIET 3¢ ¥
(A) Small Industries Exiension & | (A) g IEr fawmr e o

Training Enterprise ey

(B) Small Industries Extension & (B) &g Sam fgar &fiw o

e ——

Training Institute qE=E

(C) Small Industries Fxtension & Trading (C) 519 T fa@re sfr s
Institute qE

(D) Small Investment Expansion & (D) =1y e famre sfe
Trading Enterprise HeaH

441/B (24)
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@ (I stands for

(A) Investment Institution (Centre
(1%) Indian Investinent Company

(¢') Indian investment Centre

(1) Indian Investment Corporation

82.) ICICI stands for :

(A) Industrial Company & Investment

Corporation of India Limited

(B) Industrial Corporation & Investment
Company of India Limited

(C) Industnal Credit & [nvestment

Corporation of India Limited

(1)) Investment Credit & lavestment

Corporation of India Limited

oo auljuoneigp mmm,//:sdny

83. Who took the lead to extend financial

assistance to small scale industries ?

(A) SBI

f (B) IECI

(") IRBI

(1)) None ot above

441/8

s e S T

1. lIC@r 234 % -

(A §T3T sty ==
(B8) wrrdrn Prawy govh
(Cy WIrimy S ==
(D) s7%G s fanm

2 wIuTia oy Th ¥ -

(A) Tofemm =7 oTz B
=TI s o RiREx

(B) o272 30577R O°Z A=A

(C) TTTESA FiZz OoF Taeae

—— ~ - -
=
Fo LI A e 7T A-es

(D) Z2==7 Fzz qvz IE=HZ

7-'.\'1:.’4.:‘. .}-"'-su s;—' a4 Ie Ilq:-;

-

- - - -
&8 g IWE o AAg §Fs A &

(A) THINTE
(By ITITHEIITE
(C) g wdTang

(D) 3T ? § 2E T8

https://www.dbrauonline.com
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@ Which act was passed by Parhament on

September 28, 1951 ?

(A) State Funds for Corporation Act

(B) Siate Finance Company Act
(C) State Finance Corporation Act

(D) Smali Finance Corporation Act

The LIC was established under the LIC

Aclin:

(A) 1954
(B) 1950
{C) 1956

(D) None of the above

capitalization signifies a
situation when an enterprise possesses an
excess

assets 1o relation to its

requirement.
(A) Under
(B) Over

(C) Actual

(D) Proper

84,

85.

86.

Ikl GhE

28 ey, 1951 ) Jug '

ar sffran wia B T

N P ofofvem & R
G

B) T e @ st
() g T Frem eifa=ad

(D) &y fa=r Py sfaf=as

tHeEdl  ofuPmm & 0 T¢
THINSA @ wrgAT 9 8 o ¢

(A) 1954
(B) 1950
(C) 1956

(D) ST H @ g FEH
............ gofienzor o i Re

B I T G TH IAY B 4
YAl STETHRAT B Hay
At T 2 2

(A) 39T
(B) 3TE€Y
(C) arfasm
(D) sfaq

oo surjuoneIgp mmm//:sdny
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l

B7. ceereeieree signilics situation when an 7 3 fafa o ot &
. enlerprise process excess assets in relation T OF T AT smerEm &
(0 its requirement. qa 4 A Ao & g
I B
(A) Over Capitalisation (A) 2foE Gomerm
(B) Profit (B) =\
(C) Proper Capitalisation (C) zraa A=
(D) Actual Capitalisation (D) arEs SHwo
g8. Capital is arranged from intemal sources ga. To =i Haexk Al 3 =AY
refers to the owner's own money known T S E T TS 3 EE a3
as: % =T =T %, TS w==m E
(A) Profit (A) T
(B) Capital (B) G=i
(C) Equity (C) Z=ET
(D) None of the above ) (D) 394G 3 § =E T8l
CE/QJSIDO was established in : g9. SIDO ¥ TUNug 64l &1 97 ¢
(A) 1995 (A) 1993
(B) 1991 (B) 1991
(C) 1990 (C) 1990
(D) 1978 (D) 1978
441/8 (27) P.T.0.
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RG] i
IPR oo initiated the modem SSI in 90. JMENANT  cvvverent? AT a9 |
India. P wawgeTd B YOI L
(A) 1956 (A) 1956
(B) 1952 (B) 1952
(C) 1990 (C) 1990
(D) 1948 (D) 1948
@ Which one of the following statement is 91. Pr=iffag § ¥ @91 T TeT
not correct ? 27
(A) Management is a goal-oriented (A) YT Qs weg I=g@ AfEHar 21
process.
(B) Management is a continuous process. (B) Wit U [ad SfHAr § |
M i i .
(C) Management is a dynamic proms._ (C) e we wfayefer uftear 21
(D) Management is a rigid process. .
eep (D) S T HEIX SAHAT B |
@ Management is not : 92. HEUT TE & :
(A) an applied science (A) TF Hgeis O
(B) a pure science (B) T g fasm
(C) anan (C) T el
(D) an art and science both (D) Fer 3T fasm= =t
83. Top management in concemed with 93. S4 wagx I Hay, B [ymgor @
formulation of : z:
(A) guidelines for supervisors (A) et & fora R Frdar
(B) long term plans (B) =r TS
C Gq"qQJn‘Equ q\]'5|=liq‘b
(C) short term plans ©
(D) 399 T F1g FE
(D) None of these ‘

https://www.dbrauonline.com
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Coordination is

(A) a management function

(3) the essenec of management
(C) an objective of management

(D) asocial objective

Managing Director is the position of
level of management in a large

company.
(A) Top

(B) Middle

(C) Lower

(D) Middle and Lower

Management is a directed

process as it aims at achieving specified

.............

goals.

(A) Continuously
(B) Future

(C) Goal

(D) Deliberately

This function of management related to
placing the right person at the right job is :

(A) Organizing
(B) Staffing
(C) Planning

(D) Controlling

(29)

94, TG T -

85.

96.

97.

(A) TH JFT AR
(B) 9937 7 v
(C) 34997 =1 U= T%2573

(D) OF AWTA= T%29R

B2 =T OE I R 2
(A) Zha

(B) 5

(C) ==

(D) 5" #HIT ==

) . -
ggd-l T= ...eeecee. Mg W=
3 - — -
¥ % THEr IToUT mAwm wE

F I FTAT &1
(A) TIICTL

(B) Hiaed

(C) &9

(D) ITEFET

qE et B 99 S 97 TES S
Hatg §E59S FT 38 o9 8 ¢

(A) FEEA
(B) &%
(C) Tr=TT

(D) FE==T

P.T.O.
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98.

100.
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This function of management relating to
laying down the foundation for carrying
out the other functions of management
successfully is :

(A) Organizing (B) Staffing

(C) Planning (D) Controlling

Organizing as a function of management
involves deciding :

(A) What activities and resources are
required

(B) Who will do a particular task
(C) Where will it be done

(D) All of the above

Successful organizations do not achieve
goals by chance but by following a
deliberate process known as

............

(A) Planning i
(B) Coordination

(C) Controlling

(D) Management

9. SEYR & o HE B AP

99.

100.

s &1 T8 T E

(A) TR (B) TIHT

(C) Ao (D) Fr=reT

YEET B O B P w9 F A

7 folr o= it B

(A) 1 fafafedt ofir darer
7T Far &

(B) f5&t A &t Y A ]

(C) 7& =T R sma

(D) ST qft

Ba e 9arT @ dedi @y

T wa ¥ afe um Y

afshar &1 g w ¥ R L

& B § ST or 2

(A) TrTT

(B) OF=g

(C) FEzT

(D) J=ge
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